Name:….………………..…
Result:……./105    ..........%
I. Translate the Czech expression into English and the expression in italics into Czech:

	   Blood is a specialised tissue of the body. It is composed of cells that are suspended in a liquid medium. Blood has the schopnost to move throughout the entire body transporting nourishment, water, vitamins, electrolytes, to all its parts. The liquid medium se nazývá plasma and three major blood cells that form a solid portion are red blood cells – erythrocytes, white blood cells – leukocytes, and platelets – thrombocytes. Plasma tvoří about 55 percent and blood cells form about 45 percent of the total krevního objemu.
	1)………………….
2)………………….

3)………………….

4)………………….

5)………………….

6)………………….

7)………………....
8)………………….

	   The upper limb is attached to the trunk by the shoulder or pectoral girdle. It consists of the lopatka or scapula, and the collar-bone or clavicle. The collar bone joins the breast-bone. The shoulder girdle is connected to the body by svaly. The bone of the upper arm is called the humerus. The upper end of the humerus has two tuberosities for the připojení of muscles, and a hemispherical smooth head for the shoulder joint. The bones of the forearm are the radius on the thumb side, and the ulna on the malíček side. The humerus and the two bones of the forearm joint at the elbow. The ulna and the radius articulate with the hand in the zápěstí or carpus. The wrist is composed of eight small bones in two rows, from which project the metacarpal bones. Each finger has three články but the thumb has only two.
	9)………………….
10)………………...

11)………………..

12)………………..

13)………………..

14)………………..

15)………………..

16)………………..

17)………………..

18)………………..

19)………………..

20)………………..

	   The skin consists of two layers: the epidermis, an outer part which is without blood or nerve supply. It is ve stavu of continuous shedding. Cells formed in the innermost part of the epidermis mature and are pushed to the outermost layer. They are sloughed and nahrazovány by new cells. The corium or dermis is situated immediately under the epidermis. It consists of living tissue involving numerous vlásečnice, lymphatic glands, nerve endings, hair follicles, sebaceous glands, and sweat glands.
	21)………………..
22)………………..

23)………………..

24)………………..

25)………………..

26)………………..

27)………………..

28)………………..


 (56 points)
II. Make plurals for the following terms:





(15 points)
1) thorax

2) vertebra
3) femur

4) cardium

5) thrombus

6) arteriole

7) debris

8) capillary

9) thymus

10) tooth

11) hernia

12) jejunum

13) lumen

14) streptococcus

15) bacterium

III. Make adjectives from the following nouns:





(10 points)
1) integument

2) gland

3) lobe

4) thorax

5) nose

6) intestine

7) hormone

8) lymph

9) artery

10) pelvis

IV. Build medical words to mean:





(3 points)
1) inflammation of the lungs:
2) liquid portion of blood:
3) the smallest blood-vessels:
V. Finish each of the following sentences in such a way that it is as similar as possible to the        sentence prented before it: 








(4 points)
1) Someone has opened the window

The window………………………………………………………………...

2) She does not think that her employer is paying her enough.

She does not think she is……………………………………………………
VI. Fill in the table below:






(12 points)

	
	took
	

	
	
	got

	
	
	been

	run
	
	

	
	played
	

	mean
	
	


VII. Read the text and fill the gaps with the numbers indicating expression below:
(5 points)
   1 – to

2 – many

3 – painful

4 – of


5 – would

Millions_____teeth are extracted each year – and_____of these extractions are unnecessary. Yet, according to a poll of 1000 men and women, 28 percent said they_____still prefer having a_____tooth extracted to having root-canal theraphy_____save it. 
